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1. Answer the following.
(a) Is 4 a factor of 36 (b) Is 8 a factor of 917
(c) Is 23 a factor of 1152
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~ In Q1. (b) is homework




2. Use multiplication to find the factors of the following.

(a) 48 (b) 55

Solution 2:-
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In Q2. (b) iIs homework




3. Find out if the first number is a factor of the second number.

(a) 14; 112 (b) 27; 190 (c) 28; 476

Solution 3:- (a) 14 ; 112
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In Q3. (c) is homework




4, Write all the factors of:
(a) 45 (b) 84
Solution 4:- (a) 45

(c) 56

IXYs =45
3X15 =45
AX 4 =45
9 x5 =Ys
153 = Yys5
U5X| =Ys

(b) 84
1 X8Y = Y
2XYo2 = Q4
A3X9 8 = QY
UxX2) = 8Y
EX14 = gy
XY = Ry
Y2 = R
U X € = RYy
20X = ]Y

—YHax2 = g4
84 x \ =__8'-1
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(d) 108



(d) 108
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In Q4. (c) Is homework

5. Say whether the following are true or false.

(a) 5 is a factor of 15. (b) 0 is a factor of 4.
(c) 6 is a factor of 45. (d) Every number is a factor of itself.
Solution 5:- (a) True (b) False

(c) False (d) True



6. Find the common factors for each of the following,

(a) 6, 14 (b) 12, 32 () 24,36 (d) 30,45
Solution 6:- (a) 6, 14
{d) &, 1y oL
IX§=6 IX14=1Y m L O)Bsae
2x3:6 2%7 =14 14 = ()3, 1,14
3X2 =4 Ix2=14
6X\=¢ Juxi=)Y Ae}\ClmiZ QML Lo B
lacteu o € and 14,
) D
(d) 30, 45
[ v i o ot - L R
- ou - - — — rA__‘_._ — = — - e ———————— ]
BTS2 o - L O 1
e ,‘22Ll_5_=,._3.0______._r.3)_<_L5_=_H_5 G‘Zl.cﬁu.bgjo ’()2,‘3}5) 6,10 1‘5)3 1
L lexin=an | Exgisis. o st
| RSNV LS o e %5:(@@@ 9islus |
16 X5 =30 |5x3 =45 T O |
10X3 =30 Y5x) = Y5 3 i, Bl
l =
I5X2i =230 é,fﬁ; 3725a/16t)5 1

i
|

s

In Q6. (b) and (c) are homework



